

## **PURCHASE ORDER**

DELIVERY DUE DATE: 01- 27- 13

Procurement Unit

Tel No.: 045-606-8142/606-8157

Supplier: LUCKY 2 NON-SPECIALIZED WHOLESALE TRADING

Address: Atlanta St. Niñas Ville, Brgy. Suizo, Tarlac City

Type of Business:

Merchandising

TIN No.:

482-667-684-000

Tel. No.:

0969-475-2805 / 0932-221-0201

PR No.:

2022-09-290

PO No.:

2022-608

Date:

12/22/2022

Mode of Procurement:

Small Value

#### Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY		Delivery Term:		30 calendar days	
Date of Delivery:		Payment Term:		n/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
1/	piece(s)	BAKING PAN, round, size 12" diameter x 3", material: metal/tin can.	10	300.00	3,000.00
2-	piece(s)	BAKING PAN, round, size 14" diameter x 3",	10	330.00	3,300.00
3—	piece(s)	BAKING PAN, round, size 16" diameter x 3", material: metal/tin can	10	450.00	4,500.00
4/	piece(s)	<b>BAKING PAN</b> , round, size 6"diameter x 3", material: metal/ tin can	10	150.00	1,500.00
5	piece(s)	BAKING PAN, round, size 8" diameter x 3", material: metal/tin can	10	180.00	1,800.00
9/	set	CAKE PILLARS, 8 pcs/Set, material: food grade plastic, color: white, Size:short cake pillar length 7.5cm, width, 3cm, diameter 4cm, long cake pillar length 12.5cm, width 3.5cm	10	500.00	5,000.00
11 ~	piece(s)	CAKE TESTER, Material: Stainless Steel, Size: app. 19x4.5cm/7.48x1.77in	10	145.00	1,450.00
12	piece(s)	CAKE TURNTABLE, Alluminum material, heavy duty, Size: 12 inches, Weight: 1.95kgs	5	1,650.00	8,250.00
13	piece(s)	CAN OPENER, Stainless steel, rubber handle	5	450.00	2,250.00
		Sub-Total:			31,050.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. GRACE N. ROSETE
Vice President for Administration

Authorized Official

Conforme:

12-28-22

<u>LUCKŸ 2 NON-SPECIALIZED WHOLESALE TRADING</u>

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

PECEIVED

Pare DEC 2 9-1922

Funds Available:

JASPER A. YAUDER, CPA

**Budget Officer** 

Form No.: TSU-PRO-SF 09 | Revision No. 03

ALOBS No.: 01-101101-2077-12-1778

Amount: \$ 260,035

Effectivity Date: August 24, 2020

Page 1 of 5



## PURCHASE ORDER

Tel No.: 045-606-8142/606-8157

DELIVERY DUE DATE: 0|- 27 23

PR No.:

2022-09-290

PO No.:

2022-608

Date:

12/22/2022

Mode of Procurement:

**Small Value** 

Tel. No.:

Supplier:

Address:

Type of Business: Merchandising 482-667-684-000

TIN No.:

0969-475-2805 / 0932-221-0201

### Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

**LUCKY 2 NON-SPECIALIZED WHOLESALE TRADING** 

Atlanta St. Niñas Ville, Brgy, Suizo, Tarlac City

Place of Delivery: TARLAC STATE UNIVERSITY			Delivery Term:		30 calendar days
Date of Delivery:		Payment Term:		n/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
14	piece(s)	Balance Forwarded: CHILLER, 7 cu.ft. Upright Chiller/Beverage Cooler 3 Adjustable Coated Wire Shelves Manual Defrost System Weight 46 kg Dimensions 56.5 x 53.3 x 153.7 cm	1	29,950.00	<b>31,050.00</b> 29,950.00
18 / 20 /	piece(s) set	COOKIE SHEET, Flat tray 13""x18"" inch cookie COUPLER, Cake Decorating Couplers, 10 pcs, Material: Plastic Color: White (as picture) Size: Approx. 2.4cm x 3.2cm / 0.94in x 1.26in	10 20	200.00 150.00	2,000.00 3,000.00
21/	piece(s)	CUPCAKE PAN, size: large, 12 Cup Non Stick Baking Pan for Muffins Reusable Muffin Baking Mold and Cupcake Mold, Material: carbon steel + Teflon non- stick layer	6	750.00	4,500.00
25 /	piece(s)	DOUBLE BOILER, 18 cm, stainless steel, 1.1L - 2L capacity	4	1,300.00	5,200.00
29	piece(s)	CAKE PILLARS, 8 pcs/Set, material: food grade plastic, color: white, Size:short cake pillar length 7.5cm, width, 3cm, diameter 4cm, long cake pillar CRATER, BOX GRAP, Material: stainless steel, where chief: Black, stain, steel Grape: 12.5 x 14 x 12.5 / x 5 x 5 : 51 x 4 .92 inch (1 x H) Sub-total:	10	425.00	4,250.00
		1920: 22.5 × 14 × 12.5/5.85 × 5.51 × 4.92 inch (LxH) Sub-total:			79,950.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. GRACE N. ROSETE Vice President for Administration

Authorized Official

Conforme:

12-28-22

LUCKY 2 NON-SPECIALIZED WHOLESALE TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Form No.: TSU-PRO-SF 09

Bank Name:

Bank Address:

Funds Available:

Revision No. 03

**Budget Officer** 

ALOBS No.: \$2-101101- 2077-17-1778

Amount: \$200,095

Effectivity Date: August 24, 2020

Page 2 of 5



Type of Business:

## PURCHASE ORDER

Procurement Unit

Tel No.: 045-606-8142/606-8157

DELIVERY DUE DATE: DI-27-23

PR No.:

2022-09-290

PO No.:

2022-608

Date:

12/22/2022

Mode of Procurement:

Small Value

TIN No.: 482-667-684-000

Tel. No.:

Address:

0969-475-2805 / 0932-221-0201

Supplier: LUCKY 2 NON-SPECIALIZED WHOLESALE TRADING

Atlanta St. Niñas Ville, Brgy, Suizo, Tarlac City

Merchandising

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY  Date of Delivery:		TARLAC STATE UNIVERSITY	Delivery Term: Payment Term:		30 calendar days n/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
30	unit	Balance Forwarded: HAND BLENDER, Immersion Hand Blender, 550W, Stainless Steel Blade, 1 Speed, Detachable Blade	5	2,500.00	<b>79,950.00</b> 12,500.00
36	Unit	MIXER, Stand up Mixer, 5 Liters Stainless Steel	5	8,950.00	44,750.00
39	piece(s)	PALETTE KNIFE, Color: Silver Handle  Material: Wooden, Length: 10"	10	730.00	7,300.00
40	piece(s)	PALETTE KNIFE, Color: Silver Handle / Material: Wooden, Length: 6"	10	230.00	2,300.00
41	piece(s)	PALETTE KNIFE, Color: Silver Handle Material:Wooden Length:8"	10	455.00	4,550.00
43	piece(s)	CAKE PILLARS, 8 pcs/Set, material: food grade	10	445.00	4,450.00
		7.5cm, width, 3cm, diameter 4cm, long cake pillar PAN, Nonvick springform Pan, material: High quality carbon steel, user: chiffencate, cheesecake and so on, 8" (20cm x 4.5cm high)		-	155,800.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

> DR. GRACE N. ROSETE Vice President for Administration Authorized Official

Very truly yours,

Conforme:

12-28-22

2\NON-SPECIALIZED WHOLESALE TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A. YAUDER, CPA

**Budget Officer** 

Form No.: TSU-PRO-SF 09 Revision No. 03

ALOBS No.: 12-101101-2022-12-1778

Amount: 1 260,075

Effectivity Date: August 24, 2020

Page 3 of 5



## PURCHASE ORDER

DELIVERY DUE DATE: 01- 27-23

Procurement Unit

Tel No.: 045-606-8142/606-8157

**LUCKY 2 NON-SPECIALIZED WHOLESALE TRADING** Supplier:

Address: Atlanta St. Niñas Ville, Brgy. Suizo, Tarlac City

Type of Business:

Merchandising

TIN No.: 482-667-684-000 Tel. No.:

0969-475-2805 / 0932-221-0201

PR No .:

2022-09-290

PO No.:

2022-608

Date:

12/22/2022

Mode of Procurement:

Small Value

#### Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY		Delivery Term:		30 calendar days n/30	
Date of Deliv	e of Delivery: Payment Term:				
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
VB2000	one salitativ	Balance Forwarded:			155,800.00
52	piece(s)	PLATE, Dinner Plate, 12", ceramic, white	50	360.00	18,000.00
56	unit	RICE COOKER, Micromatic, 7.8L Capacity, 45 Cups,	2	5,500.00	11,000.00
60	piece(s)	RUBBER SCRAPPER/SPATULA, HIGH HEAT	10	1,700.00	17,000.00
61	piece(s)	SPATULAS/SCRAPERS, Size: 13.5" -All purpose scrapers that resist scratching and high temperatureScratchresistant materials help protect your grill and cookware investment -Cool- touch handle is designed with employee safety in mind -Stain resistant; dishwasher safe for easy cleaningClean-Rest feature keeps the spatula blade lifted off the countertop hence reducing the risk of contamination -Compliant with Food Contact requirementsResist up to 260°C  RUBBER SCRAPPER/SPATULA, IGH HEAT  SPATULAS/SCRAPERS, Size: 9.5", All purpose scrapers that resist scratching and high temperature. Scratchresistant materials help protect your grill and cookware investment. Cool- touch handle is designed with employee safety in mind. Stain resistant; dishwasher safe for easy cleaning. Clean-Rest feature keeps the spatula blade lifted off the countertop hence reducing the risk of contamination. Compliant with Food Contact requirements. Resist up to 260°C	10	850.00	8,500.00
		Sub-total:		İ	210,300.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. GRACE N. ROSETE Vice President for Administration

Authorized Official

Conforme:

12-28-22

NON-SPECIALIZED WHOLESALE TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

Form No.: TSU-PRO-SF 09

**Budget Officer** 

Revision No. 03

ALOBS No.: \$2-161101-2022-12-1778

Amount: \$ 240,075

Effectivity Date: August 24, 2020

Page 4 of 5





# DELIVERY DUE DATE: DI- 23

Procurement Unit

Tel No.: 045-606-8142/606-8157

Supplier: LUCKY 2 NON-SPECIALIZED WHOLESALE TRADING

Address: Atlanta St. Niñas Ville, Brgy. Suizo, Tarlac City

Type of Business: Merchandising

TIN No.: 482-667-684-000

Tel. No.: 0969-475-2805 / 0932-221-0201 PR No.:

2022-09-290

PO No.:

2022-608

Date:

12/22/2022

Mode of Procurement:

Small Value

#### Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY		Delivery Term:		30 calendar days	
Date of Delivery:			Payment Term:		<u>n/30</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			210,300.00
62	piece(s)	SCISSORS, Kitchen Scissors, stainless steel, rubber handle	10	380.00	3,800.00
63	piece(s)	SKILLET, Size: 21cm: Diameter: 21cm, Handle	10	1,450.00	14,500.00
64	piece(s)	SKILLET, Size: 30cm: Diameter: 30cm, Handle Length: 12cm, Depth:5cm, High Quality Cast Iron	10	1,850.00	18,500.00
65	piece(s)	THERMOMETER, Oven Thermometer, Heavy Duty, Stainless Steel	4	1,100.00	4,400.00
68	piece(s)	TWEEZER, Fish Bone Tweezers, material: metal size:	5	200.00	1,000.00
69	piece(s)	Small TWEEZER, Plating Tweezers I Tongs, Plastic material, state small CAKE PILLARS, 8 pcs/Set, material: food grade	10	300.00	3,000.00
73	piece(s)	Plastic, color: white. Size:short cake pillar length ZESTER, color: yellow, Material: stainless steel, PP+TPR, Size is about 32.5*3cm	5	245.00	1,225.00
75	set	CUPCAKE TRAY, 12 cups, standard size, Aluminum	1	750.00	750.00
80	set	PIPING TIPS, set of 8 different decorating tips	4	650.00	2,600.00
		***********			260,075.00
		Purpose: for APP 2022 1st Quarter			

(Total Amount in Words) Two Hundred Sixty Thousand Seventy Five Pesos Only

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. GRACE'N. ROSETE Vice President for Administration

Authorized Official

Conforme:

12.28-22

2 NON-SPECIALIZED WHOLESALE TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

Form No.: TSU-PRO-SF 09

JASPER A. YAUDER, CPA

Revision No. 03

**Budget Officer** 

ALOBS No.: 82-101101-2027-12-177

Amount: \$ 240,075

Effectivity Date: August 24, 2020

Page 5 of 5